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Chemlab

  

Introduction  

This activity compares the reactions of and alkenes with bromine wter bromine reacts with 
the double bond to make a di-bromo alkane.  

Procedure  

In this procedure we wille do the following : 

Step1. 

Add 5 ml of bromine water to two tesy tubes and record its colour .One way to do this is to 
click on the puctures of the test tubes 2 times right click on each test tube and choose 
chemical and the volume for each  

Step2. 

Add about 5ml of hexane to one test tube and 5 ml of hexane to the other test tube  

Step3. 

Compare the resulting appearances . 
Also use the Chemical properties function right click on the reslting chemical to find the 
substances present in each test tube 

Observation: 

The hexane appeared to ...compared to the hexane which appeared to...          
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H2O+C2H5-BrC2H5-OH+HBr
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(H2SO4+K2Cr2O7

Cr2(SO4)3+K2SO4+4H2O+3/2O2K2Cr2O7+4H2SO4

3CH3CHO+3H2O       3/2O23CH3CH2OH+4
Cr2(SO4)3+K2SO4+3CH3CHO+7H2O K2Cr2O7+3CH3CH2OH+4H2SO4

 

K2Cr2O7 50g
H2SO440Ml

ZnC12

   CH3CH2OH 23g 

   

g

 

K2Cr2O7250mLmlH2SO

 

500mL g

        

ZnCl2

   

(CH3CHO)3
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paracétamol

paracétamol

  

)Bakélite(Formaldehyde -Polyphénol

 

Resol

 ww.physique48.org


Novolak

  
% 

    
g012mL

%

 

0.2ml

            

0.2mL0.2mL% 
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)Polymèrisation du STYRENE(

 
STYRENE  Inhibiteurs de (polymérisation

de benzoyle peroxyde

STYRENE

      

g.50

        

15 Ml
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Polymération par Condensation

PET
Terphatalate Polyéthyléne Dacron

Résine glycérophtalique

GLYPTAL

Résine glycérophtalique
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100Ml4g
1.6mL
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 Synthése dun Nylon

 

HEXANEDIOIQUE 1.6 (acide adipique)                         

Hexanediamine-1.6 (hexaméthyléne diamine)

R-COCI

-(NH-(CH2)6-NH-CO-(CH2)4-CO)NH21-CO(CH2)4-CO-C1+nNH2-(CH2)

+Nhc1

adipyleChlorure d

 

hemathylne diamine
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PHI

NaOHph- mètre 

         

PH

wolgmuth  
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- CO - NH- CO - nh2

CU2+

NH2-CO-NH-CO-NH- 
NHCOO

 

Gornall

            

GORNALL 

                       

GORNALL
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Gornall

 
CUSO4 5H2O

 
NaOH

  
KI

       

Gornall 

.210

     

q 
E
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KOH 

  NAOH

 

SKOH

 Calorimétre

SKOH

 Exothermique

  

HreactHH prod 

 

TiTi

SKOH

SKOH

TfTF

 

TiTFTQ 

K

 

KK
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 Q = m eau .C.    T  

Q

 
Q = 100 × 4.19 ×13 = 5447 Joules  

KOH

 
KOH

 (KJ / MOL )    HKOH

0.1 mole                5447 joules

1mole                   x

x = 54470 joules = 54.5 KJ/MOL

KOH

     

S
NaOHSNaOH

      

NaOHHC1

NaOHHNO3

       

KOH (S)     K+ 

 

a q  + OH-

  

(a q )  + 54.5  KJ/mol 
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Hess

MgO 

 O2(g)                MgO(S)                  .  MgO(S)  +  

  . 2

      

HCL

  

MgO

  

 +2HCL(aq)        MgCL2 (aq) +H2O(I) MgO(S)

HCL
TI

MgO

 

MgO
TF

 

+2HCL(aq)          MgCL2 (aq) +H2 (g) Mg (S)

 

HCL
TI

   

TF

   

HCL 50g HCL 50g 
TI

 

20°C TI

 

20°C 
TF

 

30°C TF

 

55°C 
T 10°C T35°C 

MgO0.5 g MgO0.5 g 
MGO 

 

0.013 MOL MG 

 

0.021 MOL
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KJ/MOL
QSOLUTIONS = mc   T 
QSOLUTIONS = 50g * 4.18j/g°C * 10°C = 2090j ou 2.1kj 
QSOLUTIONS = - QreacTIONS    alors QreacTIONS =2.1kj 

2.1kj=  QreacTIONS HreacTIONS= -161.5 KJ/MOL
Mol n 

KJ/MOL

QSOLUTIONS = mc   T
QSOLUTIONS = 50g * 4.18j/g°C * 35°C = 7315j ou 7.3 kj

QSOLUTIONS = - QreacTIONS    alors QreacTIONS = -7.3kj

 

-7.3kj =  QreacTIONSHreacTIONS= -347.6 KJ/MOL
Mol n
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Ln (C1H2O2/C0H2O2) =f(t)

OH- 

CH3COO-+C2H5OH        CH3COOC2H5+OH-

OH-)
CH3COO-Na+)
CH3COO-)OH-)
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=0t100ml

0.1ml.L0.1ml.L-1

          

tRt

 

Rt

10min
0.05mol.L-1
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0.05mol.L-1RnaAC = 347

 

S2O3
2-KI

 

EaS2O8
2

KI
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